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BRAINWARE UNIVERSITY

Term End Examination 2022
Programme - BBA LL.B.-2020
Course Name ~ Legal English & Communication Skills
Course Code - HU501
( Semester V)

Full Marks : 60 ' Time : 2:30 Hours
[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A ‘
(Multiple Choice Type Question) 1x30=30
1. Choose the correct alternative from the following : ‘

(i)  Devi's sarcastic portrayal of Senanayak reveals:

a) disapproval of law b) onset of anarchy
c) liberal hypocrisy and difference between d)
theory and praxis
(i) Why is Senanayak surprised when Dopdi walks out of the tent after being
apprehended?

a) She walks naked with the traces of her rape b)

without covering herself up

c) Shie i billad Wi oficers d) She .|s ashamed of her fate and begs for
forgiveness

(iii)  Which of the following was not an impact of the Shah Bano case judgement?
a) b) A deep satisfaction of a pre-existing
Sensational Press Coverage Uniform Civil Code for all citizens as per
Article 44 of the Constitution

gender violence on men

She has killed the officers

c) Protests and Counter protests by society d)
members
(iv) If the communicator or the receiver.in communication is having a hearing problem,
so it will be a barrier to the process.

a) Physical b) Social
c) Physiological d) Psychological
(v) Biasness, prejudice for the speaker in the receiver's mind, are examples of
barriers to communication.

a) Physical b) Cultural
c) Physiological d) Psychological
(vi) Non-impressive voice application of the speaker, regarding pitch, tone, volume, rate
of articulation, etc. will be considered as of the message.
a) Wrong intention b) Uneasy speaker
c) Faulty transmission d) Noisy interference
(vii) Near what is the Petkoffs house situated?
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a) Moscow
c) Petersburg

(viii) Rainas father holds what rank in the Bulgarian

a) Major
c) Lieutenant

(ix) is a quality of a good business r

a) Length
c) Font size
(x) Audio-visual is a method of

b) The Dragoman Pass
d) North Bulgonia
army?

b) Corporal

_d) General
eport.

b) Language
d) Good recommendations
communication,

a) Grapevine
c) non-verbal

(xi) Oral communication is generally not

a) recorded
c) repetitive
(xii)
a) Biting nails
c) Chewing pens
(xiii) Which is a positive posture?

a) Standing erect
c) Leaning backward

is not-a negative gesture.

b) verbal
d) informal

b) cost-effective
d) instantly used

b) Playing with hair

d) handshaking

b) Folding arms on chest
d) Looking around

(xiv) communication has an extremely wide reach.

a) Oral
c) written

(xv) Which of the following is not a symbol in the

a) Chocolate creams
c) The cloak

a) physiologihal

b) verbal
d) formal

play?

b) The library .
d) The Dragoman Pass

barrier on the receivera€™s part.
'b) psychological

c) physical d) environmental
(xvii) communication only facilitates repeated reference.
a) Oral b) verbal
c) written d) formal
(xviii) came up with the Encoder/Decoder theory of
communication. 5
a) Stuart Hall b) Karl Marx
¢) Marshal McLuhan d) Karl Popper
(xix) The message has to be initially by the Sender
a) decoded b) encoded
c) sent d) conceived

(xx) Cultural differences are an important
Encoder/Decoder theory of communi

a) facet of communication
c) barrier to communication

(xxi) communication thrives on ob
S S

a) Non-verbal
c) Interpersonal

(xxii) is not Buaranteed in the Enco

a) Meaning
c) sender

(xxiii) communica
e L s e

language.
a) Non-verbal|

according to the
—

b) aid to communication
d) background observation

servation mainly.

b) Verbal

d) Formal
der/Decoder theory.
b) message

d) receiver

tion involves the use of verbal messages plus body

b) Verbal
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c) Interpersonal d) Informal

(xxiv) Encoding and Decoding are not deterministic, but concepts.
a) non-determinate ’ b) overdetermined
c) underdetermined d) adetermined
(xxv) Encoding and Decoding are various in Hall's theory.
a) points b) stages
c) messages d) ideas
(xxvi) Effective communication calls for good insight into human behaviour
and a clear understanding of how people may react under varied situations.
a) Interpersonal b) Intrapersonal
c) Mass - d) Verbal
(xxvii) Hall's consumer (decoder) is also a ; of meaning.
a) producer - b) circulator
c) distributor d) aggregator
(xxviii) The prefix 'intra-' means "inside’ or ' ;
a) outside b) on top of
c) beside — - d) within
(xxix) In Hall's theory, 'preferred meanings' rely upon
a) bad sense : b) good sense
c) common sense . d) intelligence
(xxx) communication involves the process of thinking, planning,
interpreting ideas, clarifying ideas and thus overcoming negative feelings.
a) Intrapersonal b) Mass
c) Verbal d) Group
Group-B )
(Multiple Choice Type Question) 3x10=30

2. Choose the correct alternative from the following :

(i) Methods of note-taking are:

a) boxing method b) charting method
c) mapping method d) all of the above
(ii) What is the theme of the short story 'Draupadi'?

a) = b) exploitation and struggle faced by a
PR woman for being born in low birth
c) government and politics d) myth
(iii) How is Dopdi different from the mythological Draupadi?
a) Unlike Draupadi, Dopdi goes for the b) Unlike Draupadi, Dopdi laments for her
battle. fate
c) d) Unlike Draupadi, Dopdi uses her

Unlike Draupadi, Dopdi leaves her family ralediiest 5 3 weapan agsinst herememy

(iv) choose the correct method of petition writing: a. formulating a request  b. calling
people to action c. argument far the signature d. preparing strong notes

a) bothaandd b) bothbandd
c) bothaandb d) onlyd
(v) Horizontal communication is also known as .
a) vertical b) parallel
c) lateral d) up to down
(vi) Diagonal communication is also known an ;
a) Cross communication b) vertical communication
c) lateral communication d) grapevine communication
(vii) Precis writing is . a.article b.asummary c.agistof

comprehension passage d. research paper
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a) bothaandb b) bothbandc

c) aandd d) all of the above
(viii) What has Catherine installed in the Petkoff's house?

a) Adumbwaiter ; b) A garage for horses

c) An electric bell for the servants d) An electric bell for the dogs
(ix) The serbs are allied with members of which empire?

a) The Russian b) The Batavian

c) The Austrian . d) The Transpalpatinian

(x) What do you mean by ABC a. apple, boy, cat b. analysis, brief, core c¢. accurate
brief, clear d. none of the above

a) bothaandb b) both b and c
c) onlyc : d) none of the above
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